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sina(t) = aft), cosa(t) =1, (a(t))? =0, a(t)? =0 (1)
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Mie(t) = —(Ip + Mplp)(Beg + Fer)ae(t) — Mylp Bpce(t) + (I, + Mply) Fea Vi (1) + M5 gax(t) (2)

Mya(t) = (Me + My) Mypglpo(t) — (Me + My) Byci(t) — Mplyp(Beg + Fer)de(t) + Mplp FeaVin (1) (3)
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#(t) = Az(t) + BV (t) (1-1)
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y(t) = Cx(t) + DV, (¢) (2-2)
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M, | 1.27x107! l, | 1.7780 x 1071
I, | 1.1987x 1072 || B, | 2.40x1073
Beg 5.4 g 9.81

M, 1.0731 M; | 5.7471 x 1073
Foq 7.7443 F.o 1.7265
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(1) 0000 QDRODDOOO

(2) 000000000 w(t)=K(¢) 0000 KODODOOOO
3) 00 z.0e0V,, 0000

(4) 000000 mfile0000
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(1) 0000000000 1[deg) 000000

(2) 0000000 ODOUOO0OO0OODOUOOO0OOD 15000000 UDOOUO0DUDOOOO0DODDOOUOO 20 TrOO
000000000 10%0090% 000000000000000

(3 D000 VvV, 0000000 -13<V, <13
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(1) q1, g2, @3, s, n 00 000000000000000 (program3 00 0)00000diag 00000000
0000000000000000

(2) command 30000 ED0O0DOCOUOOOODOD(A-BK)UDODOOOODODOOOODOO

(3) 0 30 simulink 0000 model2.mdl 0000000000000 OODOOOOOOOOOO 4600000
obooooooboooon
(Checkl) z,mm] 000000000000 00OO0ODO0O0O0OO0OOO0O0O0OOOOOODDOOOOODOOO
0000000000000 0000O0000OD00UOlSssjOoooooooo
(Check2) a[deg) DODDOOO0-1<a<10000000
(Check3) V,, [V]OODODOO-13<V,, <130000000

(4) 0000000000000 O0O0OO0O0OODOOUOOOOOUOO

(5) 000U 0O0UOOMATLAB window O dataplot20 00000000 Opng0 000000 cartposition2.pngl
pendangle2.pnglcontrol2.png 0 0 OO0

program 3 command 3

>> experiment file
IC_ALPHAO = 0O

Q = diag( [ q1 q2 g3 g4 1 );
R=r1
[ K, S, E] =1qr( A, B, Q, R);

>> E
(0000D00000000)
(00O00D0O00000)

>> data_plot2;
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